
RELAÇÃO DO AÇO

8xB21 13xB28 3xB31

B34 B35 16xB48

B9-10 B22-23 B32-33

B46-47 13xP1 P9

P10 P14 7xP15

13xP16 P21 2xP22

3xP29 P32 P33

P34 P35 P37

2xP46 P48

AÇO N DIAM
QUANT

C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 56 VAR VAR

2 5.0 42 455 19110

3 5.0 64 VAR VAR

4 5.0 70 VAR VAR

5 5.0 80 VAR VAR

6 5.0 65 215 13975

7 5.0 26 213 5538

8 5.0 12 189 2268

9 5.0 111 395 43845

10 5.0 90 149 13410

11 5.0 21 163 3423

12 5.0 16 209 3344

13 5.0 28 183 5124

14 5.0 14 VAR VAR

15 5.0 16 VAR VAR

16 5.0 64 199 12736

17 5.0 112 173 19376

18 5.0 154 81 12474

19 5.0 13 25 325

20 5.0 42 32 1344

21 5.0 21 115 2415

22 5.0 6 33 198

23 5.0 3 117 351

24 5.0 9 25 225

25 5.0 9 101 909

26 5.0 3 27 81

27 5.0 3 85 255

CA50 28 6.3 3 151 453

29 8.0 4 208 832

30 10.0 144 195 28080

31 10.0 18 187 3366

32 10.0 14 207 2898

33 10.0 12 205 2460

34 10.0 80 197 15760

35 10.0 15 215 3225

36 10.0 110 VAR VAR

37 10.0 26 VAR VAR

38 10.0 10 VAR VAR

39 10.0 4 VAR VAR

40 12.5 10 VAR VAR

41 12.5 6 VAR VAR

42 16.0 64 VAR VAR

43 16.0 18 VAR VAR

RESUMO DO AÇO

AÇO
DIAM

(mm)

C.TOTAL

(m)

PESO + 10%

(kg)

CA50 6.3 4.5 1.2

8.0 8.3 3.6

10.0 704.6 477.9

12.5 10.3 10.9

16.0 94.1 163.4

CA60 5.0 2137.7 362.4

PESO TOTAL

(kg)

CA50 657

CA60 362.4

Volume de concreto (C-25) = 23.24 m³

Área de forma = 120.25 m²
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